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1s22s2 To Lewis Dot
CAeMis+ry: http://genest.weebly.com

The first three pages are all new today. Testable on May 27, but not Quiu'able
May 20™! Page 4 is VERY quizzable, however.

1. Rewrite the following Noble Gas Abbreviations in the longer version of electron conﬁguratlon (17 257
etcetera) ‘ -7

a. [Ar]ds” 3¢’
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¢. Write the Lewis Dot symbol for each of the two atog above:
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—quw a Bohr orbital diagram (the circles) Write a number—number—number diagram for this atom «
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/ Y o ¢ lx\ Write a Lewis dot diagram (Letter and dots) for this atom
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This atom has __ ¥ valence e-

therefore it is (stable /@
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3. Do three things for a NEUTRAL atom with the following electron configuration:

[Ar}4s’3d"%4p’

With the hclp of Xour table, write the long version of the above electron configuration.
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Tell how many e- are in each energy level
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This atom has __© 5 valence e- Ny L
therefore it is (stable funstable ) :
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Write a Lewis dot diagram (Letter and dots) " i e e ; !
NG, e Can




4. for a NEUTRAL atom with the fo i clron ¢ ion:
21 24 645 .2~ 6k .1
1s°2s2p Bs3p s

Write a ‘number-number-number’
diagram for this atom

7- B- 8-\

Write a Lewis dot diagram (Letter
and dots) for this atom
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therefore it is (stable /@ﬁs‘l—éﬂé )

This atom has valence

5. With the help of your tablg Rewrite the following Noble Gas Abbreviations in the longer version of
electron configuration (1s” 2s” etcetera)

a. [Arjds’3d4p' <
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¢. Write the Lewis 130t symbol for each 01' }he two atoms above:

oF

6. for a NEUTRAL atom with the jolln%ym electrpn ¢ tion:—,
@Bﬁ@ 23 psié SZE dmL‘ psEzM@
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Write a ‘number-number-number’
diagram for this atom

Write a Lewis dot diagram (Letter
and dots) for this atom
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This atom has _ ' > valence
e-

therefore it is (stable / unstaﬁle:)
i

7. foraNEUTRAL atom with

the following clectron configuration:

L}szszzp‘;3s23__54s2
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Write a “number-number-number’
diagram for this atom

/-2-17-71
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Write a Lewis dot diagram (Letter
and dots) for this atom

!’Mn"
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This atom has ~ valence
e-
therefore it is (stable / unstabld)
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8. fora NEUTRAL atom with

the following electron configuration:

[Ar]4s’3d’
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Write a “number-number-number’
diagram for this atom
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Write a Lewis dot diagram (Letter
and dots) for this atom
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This atom has
e-
therefore it is (stable




d 17 9. for a NEUTRAL atom with the following electron configuration:

Tell how many e- are in each energy level

1Sll 2 2"d: r;j) 3rd: 2 4lh: ! Slh: B

This atom has _ [ o) valence e-

therefore it is (stable / uﬁs@ " S A
Write a Lewis dot diagram (Letter and dots) ? 'SL

10. In each box, use your table from Wednesday (or online at our website) to write the name of the shape.
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10. The graph of ionization Draw a Number-
energies for a 13-clectron Number-Number
atom is shown here. Based S5 Nay 2 . symbol for this atom in
on the difficulty of ionization ene(r gles this box.
ionization, electrons 1, 2, &3 2500.0 - Y =
are probably (near the i ' { vl 3__,;/—_5’:;;;‘_'
nucleus /dn the valence orbi S5 ERy

11. Based on the difficu "6;‘5'”'“ T 2 "8"%
jonization, electrons 12 & 13 | 3 10000 ~— | Write the Lewis dot
are probably (near the / diagram here:

tcleus\ in the valence orbit) 3004
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12. In the the box, draw a Bohr 12345678951011213 o

style atom. Your atom 13 electrons belng removed, one by one 2 A R

should have 13 protons. The
electrons should be in three
circular shaped orbits.




13. Write a balanced equation for $* a Iosmg two eliclro S

14. Write a balanced equation fol w stable zlcmm ion gaining two electrons:

15. Draw a stable Lewis Dot structure for each molecule:
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1. i p is the outermost electron tougher to remove?

1. Ineach pair, circle the pair that has a greater attraction.

a) (an electron and proton that are 2 nanometers 3 or an electron and proton that are 3 nanometers apart

Fan
b) an electron and the nucleus of nitrogen ~ OF Gelectron and the nucleuio—xigD

1. In which situati ow will attraction be 2. In which sit below will attraction
stronger? ( A A B /no difference ) be stronger}( A /4 B /no difference )
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